2.1 Exercise STATS 241 THOMPSON

A frequency distribution lists the number of occurrences of each category.
Relative Frequency distribution lists the proportion of occurrences of each category.
Relative frequencies must add up equal 1.

1. Aphlebotomist draws the blood of a random sample of 50 patients | Construct a frequency distribution.
and determines their blood types as shown.
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2 A phlebotomist draws the blood of a random sample of 50 patients | (a) Consiruct a relative frequency distribution.
* and determines their blood types as shown.

Blood Type Frequency
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(c) According to the data, which blood type is least common?
AB
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{e) Contact a local hospital and ask them the percentage of the
population that is blood type O. Why might the results differ?

The results might differ because the results from the
study are not likely to be similar to actual patients.

The results might differ because certain hospitals only
treat patients if they have blood type O.

v The results might differ because there iz always
varability because the individuals in a survey may not
exactly reflect the makesup of the population.



3. Afreguency distribution lists the number of occurrences of each category of data, while a

relative frequency distribution lists the proportion of occumrences of each category of data.

4. Ina relative frequency distribution, what should the relative frequencies add up to?

Select the correct choice and, if necessary, fill in the answer box to complete your choice.

v The relative frequencies add up to 1.

5. A phlebotomist draws the blood of a random sample of 50  (a) Draw a frequency bar graph.

patients and determines their blood types as shown.
Choose the comect answer below.
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(b) Draw a relative frequency bar graph.
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6. Asurvey of adult men and women asked, "Which one of the following jobs Job Men  Women

would you most like to have?” The results of the survey are shown in the table. 2 Al 17
(a) Consiruct a relative frequency distribution for men and women. E 26 37
(b} Construct a side-by-side relative frequency bar graph. C 17 12
(c) What are the apparent differences in gender as it periains to this question? D 14 14

Mot sure [ 20

(a) Complete the table below.

Job Men  Women TOTAL MEN =99 TOTAL WOMEN = 100
A 404 A7
E 283 3T
C A21 A2
40
D el s Men A — = .404 do that for each Job Men and Women
Not sure 071 2 29
(Round to three decimal places as needed ) Match chart with data
R | R |
Women 1l Women 1l
0.4 0.4

ot sure ot sSure
Y | Y |
Vomen Il Women 1

(c) Identify the responses that are clearly more frequent for men than for women. Select all that apply.

v A

|deniify the responses that are clearly more frequent for women than for men. Select all that apply.
* B

c
D

A
v Mot sure

7. ‘What is a bar graph? VWhat is a Pareto chart?

v Abar graph is a horizontal or vertical representation of the freguency or relative frequency of the categories.
The height of each rectangle represents the category's frequency or relative frequency.

v A Pareto chart is a bar graph whose bars are drawn in decreasing order of frequency or relative frequency.



8. The following Pareto chart shows the position played by the most
valuable player (MVP) in a certain baseball league for the last 81
years. Use the chart to answer parts (a) through (d).

Most Valuable Player Award

Frequency
R
) )

-
[ T e )

OF 16 38 P € 35 2B

(a) Which position had the most MVPs?
The position with the most MVPs was outfield (OF).
(b) How many MVPs played catcher (C)?
9 MVPs played catcher.
(c) How many more MVPs played outfield (OF) than catcher?

20 more MVPs played outfield than catcher.
(Type a whole number.)

(d) There are thres outfield positions (left field, center field, right field). Given this, how might the graph be
misleading?

The graph is misleading because the bars are decreasing in height from left to right.
The positions or combinations of positions should be chosen so that all the bars are closer together
in height.

¥ . The chart seems to show that one position has many more MVPs because three positions are
combined into one. They should be separated.
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18-34 yrs 35-44 yrs 45-54 yrs 55+ yrs

(a) What proportion of 18- to 34-year-old respondents arelmnre Iikelyltn buy when made in their
country? What proportion of 35- to 44-year-old respondents are|more likely|to buy when made in their
country?

The proportion of 18- to 34-year-old respondents is .37 .

The proportion of 35- to 44-year-old respondents is .51 .

(b) What age group has the greatest proportion who are more likely to buy when made in their country?
18-34 yrs
35-44 yrs

¥ B5+ yrs



(c) Which age group has a majority of respondents who are less likely to buy when made in their

country?
35-44 yrs
45-54 yrs
¥ 18-34yrs

(d) What is the apparent association between age and likelihood to buy when made in their country®?

W

10. Aphlebotomist draws the blood of a random sample
of 50 patients and determines their blood types as

11.

As age decreases, likelihood to buy homegrown increases.

A= age increases, so does likelihood to buy homegrown.

There is no apparent association between age and likelihood to buy haomegrown.

shown.
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A national survey asked people, "How often do you
eat out for dinner, instead of at home?" The
frequencies were as follows. Complete parts (a)
through (g).

=
Response Frequency

Mever 178
Rarely 398
Sometimes 920
Maost of the time 428
Always kT

TOTAL 1961 e

Never = .264
1961

(c) What percentage of respondents answered
"Mever” or "Rarely™?

2894 %
(Round to one decimal place as needed.)

Draw a pie chart.

Choose the correct answer below.
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(a) Construct a relative frequency distribution of
the data.

Relative
Response £

requency
MNaver 091
Rarely 203
Sometimeas 469
Mast of the time 218
Always 019

(Round to three decimal places as needed )

(b) What percentage of respondents answered
"Ahways™?

1.9 %
(Round to one decimal place as needed.)
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(d) Construct a frequency bar graph. Choose the (e) Construct a relative frequency bar graph.

correct answer below. Choose the correct answer below.
L .4 .
100 8 o
g - =0
= [ 0.
S 50 £ 04
B 25 i 0.2
= 0 NRSMWMEA s MR 3MA
(f) Construct a pie chart. Choose the correct (g) Suppose a person claims that, "1.9% of all
answer below. people in the nation always eat out.” Is this a
descriptive or inferential statement?
L
¥ inferantial
descriptive

12. The data in the accompanying table represent the land area and highest elevation for each of seven states
of a country. Complete parts (a) and (b).

% Click the icon to view the data table.

(a) Would it make sense to draw a pie chart for land area?

No STATCRUNCH
Y Yes GRAPH — PIE CHART — WITH SUMMARY
g Category — state
Land Area Counts — land area

(b) Would it make sense to draw a pie chart for the highest elevation?

X Yes

¥ No

If it makes sense, draw a pie chart. Choose the correct answer below.

Ll

Highest Elevation Highest Elevation It does not make

sense to draw a pie
chart for highast
glevation.

The correct answer is No because the highest elevation of each sector divided by the total highest
elevation does not represent the relative frequency of the category.



13. The pie chart below depicts the beverags size (a) What is the most popular size? What
customers choose while at a fast food restaurant. percentage of customers choose this size?
Complete parts (a) through (c).

Most popular beverage sizes at a restaurant Medium; 11%
M Largs 32% L4 Small; 44%
B <L 13%
xL: 13%
O Small 44% S
B Medium 1% Large; 32%

(b) What is the least popular size? What
percentage of customers choose this size?

Large; 32%

(c) What percent of customers choose a Small: 44%

large-sized beverage?
d ’ ¥ Medium: 1%

19% XL 13%
13%

¥o32%
61%

14. Consider the information in
the "Why we can't lose
weight” chart shown to the
right, which is in the magazine
style of graph. Could the
information provided be
organized into a pie chart?
Why or why not?

Why we can't
lose weight

Metabolism Dont Don’t have Splurge on
too slow exerdse self-discipline favorite foods

No. There are more than 3 categories of data.
No. The values in the table are not decimals.
¥ No. The percentages add up to more than 100%.

Yes. The information could be organized into a pie chart.



